- S' TOPICAL /.YEARLY
PAST PAPER SERIES

PAPER-I (MCQ’S)

S"'UDENTS(R)
'RECOURSE DHA

38-H (COMMERCIAL)
PHASE-1 DHA,I..I-{R.

03-234567800 03-234567-569
042-3739-2640 042—3572—01'52

-
Write

Scanned by CamScanner



Economics Paper 1

Topical & Yearly MCQ’s
Article No. 151

2017 Edition

imran Latif

M.A. Economics .4

EAmrpn ™ P g Hi
- WMIass Lomimunication |

5% READSWRITE

maee PUBLICATIONS

@+92.43_35-;14033 D +92-336-5314141 @ www.readnwrite.org l'i TeadandwritepublicationsfShop

Head Office: 3-C, Zahoor Elahi Road, Gulberg II, Lahore.

=3 readandwrite.pub}ications@gmail.com

Sale Point: Shop No. 25-28 Lower Ground Floor, Haadia Haleema Centre, Ghazni Street, Urdu Bazar, Lahore

Scanned by CamScanner



P .,:,;-.=.wf"f.mmmmmmmmj
;
|

Preface
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Unitl1 * 5 Basic Economic Idegs
Unit-1 Basic Economic Ideas
1. In principle, which of the following is an advantage of a planned economy?

A Decisions are taken on the basis of social costs and social benefits.

B The government always balances the budget.

Cc The pattern of production reflects the preferences of consumers.

D There is perfect substitutability between capital and labour.

June 2002/Q4, June 1993, 1985

2. in a centrally planned economy, which of the following would be most likely to explain the failure of
particular industries to achieve their output targets'?

a change in consumer taste.

an increase in the saving ratio.

a deficiency in aggregate effective demand.

miscalculation of the interdependence between industries.

oOoOm>»

June 1990

3. Which of the following statement must be true if the use of resources involves an opportunity cost?
Not all wants can be satisfied.

Firms are below optimum size.

Opportunity cost ratios are constant.

Marginal costs fall as production increases.

The economy is operating below its productiuin possibility frontier.

moowp»

Nov 1980
4, Which of the following is the distinguishing feature of a mixed economy?

There is a well-balance industrial structure.
Immigrant labour is employed in some industries.
There are primarily, secondary and tertiary sectors.
Part of the economy is state-owned and controlied.

ooOm>»

Nov 1990
The diagram shows the production possibility curve for an economy producing goods X and Y.

good Y 4

10

Given this production

possibility curve, one way in which consumption at point R could be attained
would be to produce,
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Unit1

6 Basic Economic Ideas
A at po!nt P, export 2Y and import 3X.
B at po1nt P, export 3X and import 2V,
C at point Q, export 2Y and import 1X,
D at point Q, export 2X and import 2Y.

A, . " o
Which of the following is a normative statement? v e
g Incrgased _gpvernment spending cannot reduce unemployment.

2 The imposition of 1mpqrt tariffs will reduce unemployment.
: ?h?:::\fe?; tf:t;gtéolihng mﬂtaﬁgn which results in increased unemployment is undesirable.
1al security benefits is the primary f [ i
Wkl primary factor influencing the level of
' June 19990
The diagram shows a production possibility frontier. :
good YT
e
\\ﬁ
‘.\‘.\
.
. e,
good X

Which of the following is implied when a production possibility frontier has this shape?

A There must be full employment.
B Factors of production are imperfect substitutes.
C There are no benefits from specialization and trade...
D The marginal opportunity cost of one good in terms of the other is constant.

June 1991
The central problem of all economic societies is how to.
A achieve an equitable distribution of income and wealth.
B ensure that resources are fully utilized.
Cc allocate resources between competing uses.
D resolve the conflict between equity and efficiency.

Nov 1991
The only available information in relation to a particular country which can produce two
commodities, X a consumer good and Y a capital good, is its production possibility curve.
Which of the following can be deduced from this information?
A the growth rate of the economy
B the amounts of X and Y it will produce
c the extent to which resources are being fully utilized
D the opportunity cost of X in terms of Y at any given level of output

Nov 1991
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Unit1

10.

1.

12.

13.

14.

15.

7 Basic E‘mﬂmk ’d!“
The existence of scarcity implies that.
A there are no free goods.
B there is no net saving.
C the supplies of factors of production cannot be increased.
D households, firms and governments must make choices.
June 1992

In a market economy ,the problem of scarcity would have been overcome if

all prices were zero.

all resources were fully employed.

the rate of interest is zero.

there were a permanent surplus on the balance of payments.

oOmw>

June 1993
A country produces two goods X and Y. Its production possibility frontier is given by the equation.
Y=100 - 20x

What is the opportunity cost of producing one more unit of *X'?

1 1

A 20X B pre X C 20¥ D 5 Y
Nov 1993

What is opportunity cost of constructing a rail tunnel between Eritain and France?
A the benefits obtained by building a road link to the iunnel.
B the loss of business on ferries linking Britain and France.
C the social costs impaosed on residents in areas adjacent to the tunnel.
D the value of goods and services produced had the tunnel not been constructed.

June 1994

In an economy which is initially at full employment, what is the opportunity cost of an increase in
investment?

A the emergence of technological unemployment.
B the inflation arising from the operation to the multiplier.
g the interest charges on the funds to finance the investment.

the present consumption forgone.
p 9 June 1982, Nov 1994

An economy' prqduces two goods X and Y.
\{Vl}at name is given to the curve which shows for each level of output 0
Y' that can be produced?

f X' the maximum amount of

A a budget line

B an indifference curve

C an isoquant

D a production possibility boundary Bieet
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Unit 1

16.

17.

18.

Basic Economic Ideas

The diagram shows the production possibility frontier for an economy capable of producing only
two goods, M and N.
1I

good M

0

aood N

What would explain a change in production from combination X to combination Y?

A a fall in the opportunity cost of good N.
B an advance in technology.
C an increased desire for good N.
D employment of previously unemployed resources.
Nov 1994
An economy produces two goods, cars and butter. Tha aiagram shows the economy's production
possibility frontier.
CATE
o A

butter
Why is the frontier curved outwards?

Some resources are better suited to the production of cars and others to butter.
There are economies of scale in the production of both goods.

The resources available to the economy are in fixed supply.

Any increase in the resources devoted to car production requires a reduction in the
resources devoted to butter.

oomy

June199
A student works for a book shop for several days during the holidays. She is offered the alternative

of being paid £50 in cash or choosing £80 of books from the shelves.
What is the opportunity cost to the student of choosing the books?

A £30
B £50
o £80
D

the alternative use to which her time could have been put.
June1996
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9 Basic Economic u“,i

Unitd n

19 The diagram shows a country's production possibility curve.
Capital consumption amounts to OK. o |
Which point represents a combination of goods which is currently attain

able but would be likely to
result in an inward shift in the production possibility curve in the future?

w;
Capital
goods

consumption goods

Nov 1996
20.

The diagram shows two production

possibility curves (EF and GH), b
progress has taken place.

efore and after technological

After technological progress has taken place, what is the oppariunity cost in capital goods of
producing OX consumer goods?

consumer goods
r

h

o) Y MF nH |
capital goods |

A MH

B OH

C OM

D YF

Jun 2009/Q2, June 2008/Q2, Nov 2004/Q2, June 1997
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Unit1

10 Basic Economic Ideas

21. The curve LM is an economy's production possibility curve.
If capital consumption amounts OX,

' which combination of goods is likely to lead to a reduction in
the production possibilities open to the economy in the future.

consumer
goods 4
LLA B
o X

M
capital goods

Nov 1997
22, A student decides to stay in har room to de seme work rather than going to the cinema.
What is the opportunity cost of her deciziun?
A the enjoyment she would have derived from a visit to the cinema.
B the improvement in the mark she obtains for her assignment.
C the increase in her electricity bill.
D the money she would have spent in the cinema.
Nov 1997
ad. Which condition defines economic efficiency in production?
A All factors of production are fully employed.
B All firms are producing at their profit maximizing levels of output. .
C QOutput of any one good cannot be increased without reducing the output of some other
good.
D There are no further opportunities for substituting capital for labour.
Nov 1998

Scanned by CamScanner



B

Unit 1 11 Basic Ecmoml:m,‘

24, The diagram shows the production possibility curve of an econom
capital and labour, to produce two goods, X and Y.
The amount of capital allocated to both X and Y are fixed.

y which uses two factor inputs,

3

quantity
of X

L

O -
quantity of Y
What explains why the curve is bowed outwards?
A decreasing opportunity costs,
B diminishing returns.
o diseconomies of scale.
D economies of scale,
Nov 1998
25, The diagram shows the production possibilities of an economy that has @ rate of capital
consumption of OW.
&
consumer
goods X
]
1
;
]
[ ]
I
I
o + —
W capital goods
What will be the effect on current and future living standards of a movement from X to Y on the
curve?
Current living standards Future living standards B
A Decrease Decrease
B Decrease Increase
c Increase Decrease
| D Increase Increase
June 1999
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Unitl

26.

27.

28.

12 Basic Economic Ideas

The winner of the TV quiz show is offered a choi
of two sealed boxes. She is told that one box co

ce of either £1000 or the contents of one or other
What is the opportunity cost to the individual of

ntains £2500 and that the other box is empty.
opting for the £1000 prize?

A a 50% chance of winning £2500
B a 50% chance of winning £1500
c a 50% chance of losing £1500
D

a 50% chance of losing £1000

. . June1999
The diagram shows an €conomy’s production possibility curve. Why does the curve slope
downwards?

1

agricultural
output

N

© ingustrial output

A Agriculture and industry are subject to diminishing returns to scale.
B Agriculture and industry are subject to increasing returns to scale.
o consumers are indifferent between industrial and agricultural output.
D Resources available are limited.
Nov 1899
The diagram shows an economy's production possibility frontier.
What does the slope of the curve measure?
A
industrial
goods
o]

agricultural goods

the amount of industrial goods that society would be willing to give up to obtain a
additional agriculturai goods. _ _ . _

the maximum attainable combination of agricultural and industrial goods. ‘

the maximum quantity of industrial goods that that can be produced for any given level of
agricultural output.

the opportunity cost in terms of industrial goods of producing an additional unit of
agricultural goods.

o owm >

June 2000
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30.

31.

13 Basic Economic M,‘

be deduced from @ production possibility curve for a country that can produce two goods
What can

ital good X? 1

X, a consumer good and Y, @ capital g |
mount of X it will produce. | ~
g :rr:: :xtent to which resources are being fully utilized.
c the opportunity cost of X in terms of Y. |
D the country's preference for present as compared to future consumption.
Nov 2009
Why do production possibility curves slope downwards from left to right?
A because of the existence of diminishing returns.
B because of the existence of increasing returns to scale.
c because resources are finite.
D because resources are not homogenous.
Nov 2000

Which statement about the consequences of a more equal distribution of income is normative?

It would increase the rate of economic growth.

It would raise the average propensity to consume.
It would be inflationary.

It would improve national welfare.

ooOm>

Nov 1980, Nov 1995, June 2001

What is the opportunity cost to society of employing werkers who would otherwise have no
alternative employment?

A the wages they are paid.
B the social security payments they would otherwise receive.
C the value of the goods and services they produce.
D zero,
_ June 2002/Q2
The diagram shows an economy’s production possibility curve.
&
consumer
goods

(@] —
capital goods

What will cause

a i |
curve? Movement from point X on the production possibility curve to point Y within the
S zr; ingrease ip unemployment.
- 2 ':I'!I Lr::tt_he Size of the laboyr force.
g i ion in 1he_ availability of land for industrial production

Provement in technol .

Ogy in consumer goods production.
June 2002/Q1
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Unit 1 14 Basic Economic Ideas
34, The diagram below shows the production possibility curve for an economy.
.1\
volume of
output of
good Y
— -
O volume of output of good X
From th.e information provided in the graph, which one of the following statement about the
production of goods X and Y must be true?
A The capital to labour ratios are different.
B The marginal cost of good X in terms of good Y is constant.
c Utility is maximized by specializing compietely in the production of good Y.
D The factors of production are micie efficienily employed in the production of good X than in
the. production of good Y.
35. A student decides to stay in her room to do some work rather than going to the cinema.
What is the opportunity cost of her decision?
A the enjoyment she would have derived from a visit to the cinema.
B the improvement in the mark she obtains for her assignment.
C the increase in her electricity bill.
D the money she would have spent in the cinema.
Nov 1997
36. The steel required for the construction of a new car-assembly plant in a fully employed economy is
obtained by increasing the output of the domestic steel industry.
What is the opportunity cost of producing the steel?
A the alternative benefits forgone by diverting additional resources 1o steel manufacture.
B the alternative benefits forgone by increasing the capacity of the car industry.
C the alternative benefits that would have been obtained by putting the steel to other uses.
D zero, since there is no reduction in the steel supplied to other steel users.
Nov 2003/Q1
37. What is the opportunity cost to a fully employed economy of increasing capital investment?
A a fall in present consumption.
B a fall in present income.
Cc a rise in the saving.
D a rise in the rate of interest.
Nov 1992, Nov 1999
38, In a market economy, what is the bases for determining the allocation of factors of production?
A the market share of companies.
B the needs of the country. _
c the pattern of consumers’ spending.
D

the wealth of entrepreneurs.

Nov 2004/Q1
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Unit 1

39.

40.

a1,

42,

43.

15

What is the main economic problem facing all societies?

A
B
c
D

What is an essential feature of a

A

B
c
D

how to reduce unemployment.
how to reduce poverty.

how to allocate scarce resources.
how to control inflation.

pure market economy?

Buyers and sellers have perfect knowledge.

External costs aré taxed.
Prices respond to the demands of consumers.

The government provides public goods.

A consumer allocates his expenditure over time.

What would cause an increase in th

o0Om>

a decreases in his current income.
a decrease in interest rate.
an increase in his current income.
an increase in interest rate.

Why are there no markets for free goods?

A
B
C
D

Basic Economi¢ Idey

Jun 2005/Q1, Dec 1986, Dec 1982

e opportunity cost of current consumption to the consumer?

Nov 1996, June 2006/Q1

Consumers' valuation of free goods is the same at all levels of demand.

Free goods are non-excludable.
The demand for free goods is infinite.

The supply of free goods is sufficient to satisfy all demand at zero price.

The diagram shows a production ibili ;
Xand Y P possibility curve for an economy which produces only two goods,

The econom:
' y produces 400 of good
Which quantity of good X is givegr’: up?

A

UL
2000

1000 —F\
) \\\
good Y 500 — M\\
0 LI S | \
T T T T 17 17 T T 17
’ o 1000 1500
good X

600 B 560 .

Ya '
nd produces on its production possibility curve.

1200 D 1600

June 2004/Q2
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16 Basic Economic ldeas

A4, The diagram shows shifts in an economy's production possibility curve.

['s

consumer
goods

O
capital goods

Which change could have come about as a result of an improvement in technology?

A
B
o
D

A
B
C
D

StoY
Tto S
Wio T
WtoY
Nov 2003/Q2

What is the opportunity cost to unemployed workers who become employed?

the leisure they would otherwise have had.
the value of the goods and services they produce.
the wage they are paid.
zero.
June 2005/Q2, Nov 2011/P11/Q3

The diagram shows a country’s production possibility curve.

good Y

2 good X

What could aliow the economy to move from M to N?

oOom>»

an increase in consumer spending

an increase in demand for exports

an increase in government spending on pensions
an increase in investment

Nov 2005/Q2
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Unit 1 17 Basic Economic iggq,

47. In the diagram the original production possibility curve is LM.

4
L
N
good X
N\
0 goody P M

What might cause the curve to shift to NP?

technological progress
unemployment of resources

the depletion of natural resources
a reallocation of resources

ooOom»

June 2003/Q2, June 2006/Q2
48. What is present in a mixed economy but not in a planned economy?

capital goods
consumer surplus
government borrowing
private production

o0 mW>

Nov 2006/Q2

49. Planned economies had a history of failing to produce enough consumer goods.
Which method of allocating these goods in short supply involved a market system approach?

A equal rationing to people according to their family size
B official sale to people according to their ability to queue
C selective distribution to people according to their occupation
D unofficial sale to people according to their willingness to pay
June 2007/Q2
50. What would prevent a firm gaining the maximum benefit from the division of labour?
A a high interest rate
B a small market
c high production costs
D low productivity
June 2003/Q3
51. What is meant by the ceteris paribus assumption? 5
g an assumption that is not supported by the facts
c an assumption that consumers act rationally
D an assumption that two factors are in equilibrium
an assumption that other factors are held constant
Nov 2003/Q3
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Basic Economic Ideas
Which group may be disadvantaged by the introduction of division of labour?
g zg:.ls::‘grs w:o prefer standardised goods
'es where the production process has man -divisi
C the government, if the product is taxed S
D workers who prefer a variety of tasks
June 2004/Q3
What is meant by ‘ceteris paribus’ in economic analysis?
A A normative approach is being adopted.
B The effect of a change of one variable is being considered in isolation.
C One good has to be sacrificed to obtain more of another.
D One factor of production is fixed.
Nov 2004/Q3

3 The diagram illustrates the production possibility curves for an economy in Year 1 (X4, Y1) and
Year 2 (Xz, Y2).

What can be deduced from the diagram?

&
Y4
good Y k- i
NN\
‘\.\ N,
B \"\_
My, \‘-\
™,
e e
O s Wy
good X

The cost of production was lower in Year 2 than in Year 1.

The full employment level of output was lower in Year 2 than in Year 1.
The opportunity cost was lower in Year 2 than in Year 1.
Unemployment rose between Year 1 and Year 2.

oOomr

June 2005/Q3, Nov 2009/12/Q1

A government proposes to introduce a road congestion charge which would require private
motorists to pay a toll for road use.

Which statement relating to the proposal is normative?

A Bus passen_gers will benefit at the expense of motorists. _

B Motorists with higher incomes will be prepared to pay the charge in return for reduced
journey times.

g Motorists with lower incomes will not be able to afford to use the roads.
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56. What is an example of the factor of production capital?

A a bank account held by a small firm to b_e used for future purchases.
B a forest of hardwood trees ideal for furniture making.

C the market value of a company's share§.

D word processing software used by a writer to complete her new book.

i Nov 200
sarily a function of enterprise rather than management? 5IQ3

57. What is neces
accepting the risks involved in production
deciding how much labour should be employed
organising the other factors of production
promoting the sale of the product

oom>

June 2007/Q3

58. What is the outcome for consumers and workers as a result of increased division of labour?

consumers workers

less choice of goods | wider range of skills ‘
fewer mass-produced goods | wider variety of tasks

lower prices of goods ncraased productivity

O 0O m P

lower quality of goods L:;'ics--eas-ed intlependence ;

Nov 2003/Q4

58. What is an advantage of using the market mechanisin: ic aliocate resources between alternative
uses?

It ensures that resources will be allocated efficiently.

It ensures that resources are allocated in accordance with need.

It minimises the time required to make decisions.

It gives all consumers an equal voice in deciding how resources should be allocated.
June 2004/Q4

oOm>

60. Doctors should be paid highly because they have to undertake a long period of training.

What can be concluded about this statement?

g It is 2 normative statement because high pay does not always result from lengthy frelg
e It is a normati’m statement because it expresses an opinion.
: Itis a positive statement because doctors do have to train for a long period.

Itis a positive statement because greater skill results in higher pay. 2004/Q4

61. ich i : e
Which is a normative economic statement?
A .
“ Money is the least liquid form of wealth.
o nge firms are subsidised by the government.
D Ta:;i \::)erliﬁrsbeam more than others.
€ best way to dis '
y courage smoking. Sl 2005}@4
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20 Basic Economic Ideas

The workers in a factory currently earn $240 for a 40 hour week. The management offers them a
choice between either a straight 10 percent wage increase or an increase in the weekly wage of
$260 coupled with a reduction in hours from 40 to 39 hours. What is the opportunity cost of each
worker of opting for the 39 hours week?

A 34 B 36 C $20 D %24

Nov 2005/Q4
A farmer can produce both beef and lamb. The opportunity cost of a kilo of beef is three kilos of
lamb. The price of a kilo of beef is twice that of lamb.
What should he do if his aim is to maximise his revenue?

A concentrate on beef production

B concentrate on lamb production

c produce beef and lamb in the ratio 3:2
D produce twice as much beef as lamb

June 2007/Q4

Some people are shipwrecked on a tropical island and allocate their time between gatheﬂng
coconuts and fishing. Each individual is equally productive in collecting coconuts or catching fish.

Which diagram represents the production possibility curve of this community?

A B C D
4 i 4 A

2
r
|
i
|
}

coconuls “\ coconuts

\ coconuls \ COOOnLs I
\ ]
N\, |
p— O!___—""' 0 : . E-"%""
fish fish flish fish
Nov 2007/Q1

A country's production possibility curve moves from XX to YY as shown in the diagram.

[ 3
X

Y V\
capital
goods

0 Y X
consumer goods
What could have caused this movement?

A a rise in the retirement age
B an increase in invesiment

Cc an increase in net emigration
D

a rise in technological progress
June 2008/Q1
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67.

69.

Why is scarcity the central feature of the economic problem?
A People's needs are limilgd.
B Resources have altematwe}uses.
c Economic resources are ﬁnltg.
D Consumers have limited choices.
Nov 2008/¢y

Tom has set up his own business, which is based in premises owned by Fanda. All machinery is
hired from an equipment company. Both Tom and Fanda are employed in the business.

What describes the earnings of Tom and Fanda?

Tom Fanda
A rent and profit interest and profit
B wages and profit wages and rent
C interest and rent rent and profit
D wages and interest “ "u"-;ar._:eags_ and interest

Nov 2009/P12/Q30

Which is a normative statement?

Inﬂ;tion can be reduced only by increasing the level of unemployment.

An increase in the rate of inflation will lead inevitably to an increase in unemployment.
Unemployment is more harmful than inflation.

If unemployment is reduced below a certain level, this will lead to higher inflation.

o0Ow>

June 2002/Q3, Nov 2007/Q2 , June 2011/P12/Q3

; d
A Southem African government was concerned about the market influence of a large producer &

was keen to take control of the company.
What might be the possible result of this?

an increase in the role of the market

an increase in public ownership

an increase in the role of the consumer 4
an increase in the amount of competition Juné 2008

ocom>»
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22 Basic Economic Ideas

The production possibility curve for an economy producing capital and consumer goods is

represented by the line PQ.

[

P

capital
goods

consumer goods

What is the opportunity cost of producing OS of consumer goods?

A OR of capital goods
B PR of capital goods
Cc SQ of consumer goods
D SQ of consumer goods + PR of capital goods
Nov 2008/Q2
In which situation would an economist assume ceteris paritiis?
A when calculating the retail prices index
B when deciding what to include in a cost benefit analysis
c when making normative statements to advise the government
D when studying the effect of a price rise on demand
Nov 2007/Q3

Which of the following is a normative statement?

A If firms spend more on advertising, sales volume may not rise.
B If firms raise prices, profits will rise.
c The government should reduce taxes on spending so that economic welfare will rise.
D Export volumes will rise if the government lowers the exchange rate.
June 2008/Q3
In which types of economy might a government control prices?
A market and mixed only
B market and planned only
c market, mixed and planned
D mixed and planned only
" Nov 2008/Q3
hat must be true of a positive statement?
A :t '!s one that can be shown to be correct or incorrect.
= tis one that deals with positive changes in economic well being.
5 |}tlissone that is true by definition.
one with which everyone is i ent.
YR agreaman June 2009/P1/Q3
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dasen | 74 ‘MH |
78 Wil does the conospl of cetens paribus aliow economists 10 807
A calculate the monetsry vslus of uoﬂ:um!f w;ﬂlul
B aistinguishi between eConomic and free good
C a:sm:::um between normalive snd pol:::: mf‘;’;:""
D salate the effect of one vanable on snothet vl
: biy plant changed. Company mefgers mes,,
Té in the 20th century the nature of & typical car ass8m .
1hun: were fewer firms, they operaled on Isrger sites and they had more automated mmwm
robote
How is this change most likely 10 have affected the relative employment of factors of production [
the industry? e ——
l. increased relalive use | decreased relative usé
e v ————— e ——— 1
capital and enlarpnse labour and Jand
B | enterprise and labour land and capital
Cc land and capital enterprise and labour ]
D labour and land capital and enlerprise
Nov 2007/Q4
7. Which action by an individual would not be considered an action of the factor of production labour?
A leaving college to work on the land
B moving from a labour-intensive industry to work in a capital-intensive industry
c sefting up a new business in information technology
D undertaking a training course in computer skills
Nov 2008/Q4
T8. In a command economy, what is the basis for determining the allocation of factors of production?
A the pattern of consumers' spending
B the perceived needs of the country
c the revenue from taxes
D the size of public sector companies
June 2010/P120¥
79. Which statement about trade unions is normative?
A Since trade unions exist to
safe e the
8 :ognl protection of the state. guard the interests of their members, they deserv
N Countries where trade unions "
c Uneven trade uni are strong, income distribution is more equal.
b different lndustl:ir:;im membership has resulted in a widening of the wage gap betweer
In industries where -
bt 1ere lrade unions are powerful, technical progress tends to bé much
June 20’“"?“'0:

. f
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A worker can make 10 hats or 5 pairs of shoes in a day. In the market three hats can be sold at the

same price as two pairs of shoes.
The worker should make

A 4 hats and 3 pairs of shoes daily.
B 6 hats and 2 pairs of shoes daily.
Cc hats only.

D shoes only.

What is the central problem for an economy?

A to achieve maximum growth in production
B to allocate resources between alternative uses
c to ensure all resources are fully exploited
D to overcome inequalities in income distribution

What are most likely to be disadvantages found in a market economy?

A economic growth and state-owned companies
B merit goods and free competition

c public goods and economic specialization

D unemployment and external costs

The diagram shows the production possibility curve of an economy.

! |

capital
goods
O consumer -
goods

Which statement explains the shape of this curve?

oOomw>

made.

What distinguishes capital from other factors of production?
A Capital exists only in capitalist market economies.
Capital results from the operation of the other factors.

B
c The rewards earned by the owners of capital are uncertain.
D

June 2010/P12/Q3

Nov 2010/P12/Q1

Nov 2010/P12/Q2

More efficient workers are drawn away from the production of consumer goods.
Resources cannot be switched between producing capital and consumer goods.

The economy is more efficient at producing capital than consumer goods.

The opportunity cost of producing capital goods increases the more capital goods are

Nov 2010/P12/Q3

Unlike labour or land, capital must be owned rather than hired or rented.

June 2011/P12/Q1
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o,
What is likely to be greater in @ planned economy than a market economy?
A efficiency
B fiexibility
Cc innovation
D stabili
ity June 2[)111’%12‘@2
The diagram shows the production possibility curves of two economies, X and Y.
Which statement about the two economies is correct?
4
200+
capital X
goods
100~
Y
0 r T ch
0 100 200
consumer goods
A Both economies always have the identical opportunity Costs.
B Both economies have the same future growth prospects.
C The opportunity costs aré constant in both econormies.
D The two economies can never produce the same compination of products.
June 2011/P12/Q30

appointment with his bank manager.
tween travelling to the appointment by car, or leaving the car at home and

e costs of the journey are given below.

An individual has an
He has a choice be
travelling by bus and then by train. Th

$ |
bus fare 2 !
train fare 3 i1
car parking charge 4 |
petrol 2 l
car wear and tear costs 1 [

Given this informati i i
by bus and o CHT Mol WK I e KRpaiinity GeRiIo the individual of travelling by car rather
A 2
. B 54 c 7 o 2
Nov 2011/P12
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26 Basic Economic Ideas

The curve PP in the diagram is the production possibility curve for a country producing goods X
and Y. The production of X is more labour intensive than the production of Y.

A

R
Q
P
S
goodY T
O S T PRQ
good X

The working hours of the labour force are reduced by law.
Which curve could be the country's new production possibility curve?

A TT B SS Cc I D RR

Nov 2011/P12/Q2
In Economics, decisions are usually taken ‘at the margin'.

What does this mean?

A They are concerned with actions that occur in free market not planned economies.
B They are concerned with issues on the boundary between macroeconomics and
microeconomics.
c They are concerned with the choice between normative and positive actions.
D They are concerned with the effect of adding a further action to the current level of activity.
Nov 2011/P12/Q3
Which factor of production and example are correctly linked?
l factor of production example
A ‘ capital $10 000 in a savings account
B | enterprise a company accountant
| C ‘ labour a robot
D | land i the flow of a river

Nov 2011/P12/Q4
What is an example of the factor of production capital?

a bank account held by a small firm to be used for future purchases
- a forest of hardwood trees ideal for furniture making
the market value of a company's shares

word processing software used by a writer to complete her new book

oOm>

Nov 2011/P11/Q2
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92. The diagram shows a production possibility curve for an economy.
4
X
consumer
goods
¥
O b_
capital goods

Assuming that the production possibility curve remains unchanged, what is the most likely reason
for the movement from point X to point Y?

A a civil war causing a widespread loss of resoiires
B a permanent fall in productivity in both capital ana consumer goods
C a rise in unemployment due to a recession
D the exhaustion of a natural resource
Nov 2011/P11/Q1
93. Which statement is normative?

A As a general rule, people are happier in more equal societies.
B Despite a large increase in income per head, people are no happier today than they were
C
D

50 years ago.
Happiness depends not on the absolute level of a person’s income but on his relative

income.

The promotion of happiness is a more important goal than the maximisation of production-
Nov 2011/P11/04
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Unit 2 Demand, Supply & Equiliy,

Unit-2 Demand, Supply & Equilibriyy,

1. Which one of the following is not held to be constant when a demand schedule is drawn up?
A consumer's tastes :
B consumer's money incomes
Cc the price of the good itself
D the price of the complementary goods

June 1980, June 1985

2. Which of the following might explain a simultaneous increase in both price and quantity traded in
the market for a normal good?

LS the removal of an effective maximum price on the good.
B technological progress in the production of the good.
Cc the imposition of a tax on the good.
D the granting of a subsidy to producers of the good.
June 1984 , June 2003/Q14, Nov 2008/Q10
3: Which one of the following could not cause a shift in Smith's agemand curve for commodity Z?
A a change in the price of Z.
B a change in the price of substitute commadity.
Cc a change in Smith’s income.
D a change in Smith's tastes.
Dec 1984 , June 2005/Q5
4. The demand curve for a product will tend to shift tc the right if there Is
A an increases in the demand for a complementary good.
B an increase in the demand for a substitute good.
Cc a fall in the price of the product on world markets.
D a reduction in the tax imposed by the government on the product.
Nov 2001,June 1989,Dec 1985
5. In diagrammatic terms, other things remaining the same, a fall in the price of a commodity will
normally shift
A the demand curve for the commodity to the right.
B the demand curve for a substitute to the left.
g the demand curve for a complement to the left.

the supply curve for the commaodity to the right.
June 1986, June 2001

Lr;e_n;a;rliet demand equation for a good is given by Qd = 310 — 20p and the supply equation by
= 10p, Where p denotes the price of the good.

What is the equilibrium price?

A 5 B 10 c 15 D 20

Dec 1986, June 2005/Q12

3
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In deriving the demand curve for a good, which of the following is allowed to vary?

A income

B the price of the good being considered.
c the price of all other goods.

D population

Nov 1981,Nov 1988 , Nov 1991
In calculating the short-run supply schedule for a firm , What is assumed to remain unchanged?

the number of consumers
the price of the goods
the quantity of all factors
the state of technology

oOomrP

June 1989, Nov 2003/Q8

Which of the foliowing will not cause a shift in the market supply curve of a commodity?

arise in the price of commodity
a rise in the price of factor input.
a change in technology.

the introduction of a specific tax on the conunodit

oOwr

June 1990 , Nov 2005/Q9

Which of the following will cause the demand curve tor comestically produced cars to shift to the
left?

an increase in the costs of production of domestically produced cars.
a reductions in the tariff on importeag cars.
a reduction in the tax on petrol.

a reduction in taxes on the purchase of cars.

oOowm»r

Nov 1990, Nov 2000, June 2011/P12/Q5

During a certain period, 10 000 units of 2 normal good are sold at a price of 20 c. During a later
period, 12 000 units are sold at a price of 22 c.
What could explain this change?

a reduction in consumers' incomes

an increase in the cost of raw materials

an increase in the price of a substitute commodity

an increase in the productivity of factors of production

June 1985, Nov 1990 , June 2004/Q7

oOow>

Which of the following would cause the supply curve wool for suits to shift to the right?

a reduction in a tariff on imported wool used in suit manufacture.

a successful advertising campaign by an association of suite manufacturers.
an increase in the prices of jeans and shirts.

an increase in the selling price of suites.

oOom>»

Dec 1983,June 1991
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13, Inthe diagram. points X shows the equilibrium price and quantity for a fruit drink.
The government announces that the ingredients used in the drmk_ can be harmful.
Which point. A, B, C or D, is most likely to represent the new equilibrium after consumers hear this

announcement?
&
price
per
liter
| 4
I!.‘
i
L
© quantity(liter pe: poricd)
Mov 1883,June 1991
14. The demand for illegal addictive drugs remains constant for scmie tine in a country.

Which of the foliowing would an economist regard as the beat indiostor of the success of a

campaign to restrict the supply of addictive arugs?

A an increase in the quantity of drugs seized by the customs and excise service.

B an increase in medical expenditure on rehabilitating addicts.

c an increase in expenditure on the enforcement campaign.

D a sharp rise in the street price of addictive drugs.

) ) o . June 1991

15. In the diagram, paint X shows the equilibrium price and quantity for a fruit drink.

The government announces that the sweeteners used in
cancer in rats.

Which labeled point is most likei
this announcement?

the drinks have been found to cause

y to represent the new equilibrium position after consumers hear

] D1 Sz
price r
per
pint
S1
P1 -
D1
Do
D2
o

Q4 quantity(pints per poﬁoa

Nov 1991
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32 Demand, Supply & Equilibrium

The diagram represent the market for coal.

A

© Qz Qs quantity

Which of the following could have caused an increase in the price from P4 to P,?

A the opening up of new, highly productive opencast mines

B a fall in the price of gas central heating
Cc an increased government subsidy to coa! producers
D a rise in the wages of coal miners
. . Nov 1991
In the diagram ,D is the demand curve for a commuoaity, H1 and S; are the supply curves before
and after intervention by the government.
'y
price 51
Sz
R
P2
L
b
} i .
0 Q Q quantity

What action has the government taken?

A It has given producers a subsidy to encourage greater output.
B It has given a subsidy to consumers.

C It has raised the price to consumers to ration the quantity available.
D It has imposed a tax equal to P; — P, to discourage production.
Nov 1991
Demand for a good is said to be effective only when it is associated with
A knowledge of the characteristics of the good.
B the existence of an adequate supply of the good.
c the satisfaction of a want.
D

willingness and ability to pay for the good.
June 1992, June 19388, Nov 2000
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New technology makes it possible to p
What effect will this have on equilibrium

E

33 Demand, Supply & Eﬂ"‘ﬂbq-

roduce more of a good at every given price.
price and output in a competitive industry?

Output

Decrease

Price

Decrease

Increase

Decrease
no change

Increase

Increase Decrease J
Increase Increase J

molo|lwmi>

June 1992

market conditions for good X.
to S:5,?

The diagram shows the od .
hanges could cause a shift in the supply curve from S1S+

Which of the following ¢

&

Sz S

price

Sz

Si
e -’_
0 guantity

0

an improvement in the method of producing good X.
an increase in the demand for goods which are produced in joint supply with good X.

a reduction in the rate of value added tax applied to good X.
the removal of a subsidy paid to the producers of good X.
Nov 1981,Nov 1982

OCOm>»

An eighteenth century Swiss clock maker made a total of 15 identical carriage clocks. There are
hows their demand schedules.

currently just three collectors of these clock. X, Y and Z. The table s

Quantity demanded (units)
Price (£000) X Y Z
5 0 0 3
4 1 0 4
3 2 3 5
2 3 6 6
1 4 9 7

gether to trade between themselves

X, Y and Z initially possess 5 clocks each. They then come to
llowing is correct?

at the market clearing price (or equilibrium price) which of the fo

g Xis a buyer; Y and Z are sellers.

: X and Y are buyers: Z is seller.

¢ X and Z are buyers; Y is a seller. ‘
une 1994

Y and Z are buyers; X is a seller. 80, J
Nov 1980, !
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34 Demand, Supply & Equilibrium
Dmm:dwedube shows the maximum price at which a firm would be able to sell any given level of
A demand scheduje
B marginal revenue schedule
C production schedule
D SUpply scnedule
Goods X and Y are substitutes. Sl
What will be the ct e ilibr ' i
il effect on the equilibrium price and quantity of good X of a decrease in the supply
| Price of X Quantity of X

A Decrease Decrease :

B Decrease Increase :

Cc increase Decrease ]

D Increase Increase !

June 1996

What would cause the demand curve for holiday accommodation in Mauritius to shift to the right?

A a fall in the foreign exchange value of the Mauritie rupee.
B poor holiday weather in Mauritius.
Cc relaxation in planning controls on hotel consizuction in Mauritius,
D removal of sale taxes on hotel accommedation in Mauritius.
Nov 1996 , Nov 2004/Q6
The demand for video recorders increase. while the cos

t of producing them decreases.
What will be the effect on the price of video recorders ani on the quantity supplied?

[ Price Quantity

A fall Uncertain

B rise Increase

C uncertain Increase

D uncertain Uncertain

June 1997

Which of the following is a characteristic of goods that are perfect complement?
A joint demand
B joint supply
c Indivisibility in production
D Positive cross-elasticity of demand

June 1990, Nov 1997
A rise in the price of a good is accompanied by an increase in the quantity demanded.

What could explain this?

Consumers spend a high proportion of disposable income on the good.
The good is inferior and has several close substitutes.

The good's substitutes are all very much more expensive.

The price of the good is taken as an indication of quality.

oOom>

June 1998
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35 Demand, Supply & Equmbﬂ"

What would be likely to cause an increased demand by private motorists for petrol?
an increase in the road toll charges.
an increase in the price of second-hand cars.
a reduction in bus fares. : il
ion in the price of steél.
a reduction in the p RR——

oOom>

d and supply curves within a country for home-produced coa|,

The diagram shows different deman
- diagram from OP to OP47?

What could explain the fall in the price of coal in the
&

S
price
7
|-
o guantity

a fall in the cost of oil-fired central heating
an increase in the duty on imported petroleur::
an increase in the industrial demand for ceal
a subsidy for the coal industry
June 1989,June 1998

oOm>

Which of the following will cause the demand curve for holiday accommodation in the UK to shift to

the right?

poor holiday weather in the UK.
reduced employment in the UK tourist industry.
a fall in the foreign exchange value of sterling.
relaxation in UK planning controls on hotel.
Nov 1998

oOoOm>»

What is most likely to cause an increase in waiting lists for public sector rented aocommodaﬁon?

an increase in house building.
an increase in the rents of public sector housing.
an increase in interest rates on loans for house purchase.
government subsidies for people buying their first home.
June 2000

ooOom>»
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32 An eighteentn century swiss clockmaker made a total of 12 identical carriage clocks. There are

cumrently just three colleciors of these clocks. X Y and Z. The di : :
oemand schedules. LAk d Z. The diagram shows their respective

10

B 12 quantity

X.Y and Z initialiy possess 4 clocks each
They come together to Trade between themseives

At the market clearing price (or equilibrium price). which of the following is carrect?
“__3\;—"_\._ : Sie'!;.r;l_s]‘_
A - T \_ -_'.".."__'.__'_—
(8 [ vedz 1T x
e8] x | =
D z B |

June 2002/Q10

33. In the diagram below D- and S, represent the demand and supply curves of a Malaysian industry in

its home market. Equilibrium is at X.
The industry has to pay a large wage increase and at the same time faces increased competition

from imported substitutes.
Which point, A, B, C, or D, on the diagram couid represent the new equilibrium?

A SJ
D2 Sy

D4
Dy
price
D,
Ss D,
Sz Ds
O quantity

Dec 1987, June 2004/Q8 , June 2008/Q11
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Demand, Supply & E‘Mﬂbq.
34, The table shows observations of a competitive market in equilibrium in two periods.
Period market price quantity traded
1 50 cents 10 000 units
2 60 cents 12 000 units |

What could explain the change from period 1 to period 27

an increase in the price of a complement.

an increase in the price of a substitute.

the imposition of an indirect tax on suppliers.

the imposition of a minimum price of 60 cents by a government.

June 1992,Nov 1995,Nov 2004/Q13

o0Om>

35. In the last ten years e-mail has increasingly been used in preference to postal services.

Which graph shows the changes in the market for postal services?

B
| * L \ S
J 5 \ \_\‘
\‘\ \
: o N\ N\,
: F. price | 2 pemmm Aoy
price 1 Bl N
P;‘ i "/.\"\\ \
. 1IN D,
b, ] 6,
s 0O
0 Q Q ¥ Q Q
auantity quantity
. D
; > \ S,
S, : S|
. P o
Price P W price ?
] Pt
v D A "
& - o
QQ, 0 aa
quantity '
quantity
June 2004/Q5
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38 Demand, Suppty & Eouitrms
36. What ensures that demand for g product is efective?
A ?r\‘e consumer must be in the private sector of the economy.
B € Consumer must have sufficient income to buy the produc
C The consumer must receive consumer surplus.
D The consumer must want to buy the product
Nov 2004/Q5 . June 2007/Q5
3r. The table shows the ievels of demang for silver in millions of ounces for GFerent uses between
1999 and 2001.
1998 2000 2001
| Industrial use 3405 371 338.5
| Photography 2258 | 2195 2102
- Jeweliery and silverware 273.3 281.4 287§
' Coins and mecals 276 29.8 27.2
What can be conciuded about the different dernands o- silver between 1998 and 20017
A All types of demand followes the sames trens
B Industrial use had the greatest fail in «
C Jewellery and silverware had z continio < increass in demand.
D Total demand increased.
Nov 2005/Q5
38. Which piece of information would enable you to construd the market cemand curve for 2 product?
A the equilibrium price of the product
B the number of consumers who would purchase the product at each price
c the number of firms in the industry
D the quantity that each consumer would be willing and able 1o buy at each price
June 2006/Q5
38, The market demand for a product is made up of the demand from three firms, X, Y and Z.
The table shows the demand from each firm and the market supply.
‘ price $ | demand from X | demand from Y | demandfromZ = market supply
[ . :
? | 3300 !| 3300 ; 3300 3300
8 | 3100 | 2900 | 3100 6200
o | 2800 i 2500 i 2600 | 8200
0 | om0 | 200 | 2700 10 000
What is the equilibrium price in the markel?
A $7 B 38 c $9 D $10
Nov 2006/Q5
.
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40,

41.

42.

43.

39

The following might influence the demand for a good.
Which would not cause a shift in the demand curve for the good?

ooom>»

The demand for a product is affected by a number of influences.

a change in the price of a complement
a change in the price of a substitute

a change in the price of the good itself
a change in consumers' incomes

What will cause a movement along its demand curve?

A
B
c
D

a rise in consumers’ income

a rise in the popularity of the product
a rise in the population

a rise in the price of the product

Demand, Supply & Equy

Nov 2007/qs

June 2008/Q5

A change in the price of a good causes an increase in the quantity of the good demanded,_
What would be the nature of the good and the direction of price change for this to be certain to

happen?

nature of good |  price change
A | inferior I fall
B inferior i rige
c normal f fail
D | normal ‘ _rise

Nov 2008/Q5

What is not held constant when aggregating individual firriis’ supply Giives to give the market
supply curve?

A

B
c
D

the number of firms in the industry
the price of the product

the prices of factors of production
the state of technology

June 2009/Q5

A change in market conditions causes a reduction in supply. This results in a higher price for the
product, which has a downward-sloping demand curve.

What must be the outcome of this higher price?

OOm>

an increase in the factors employed in the industry
an increase in producer’s revenue

a reduction in the quantity demanded

a reduction in the demand for substitutes

Nov 2009/P12/4

Scanned by CamScanner



el «® Dot Grmons & Fauilibragm
a5 The table gives the short-run supply scheduies of three & X ¥ ; ” —
industry and Z. which comprise
Onoe guanifty supohed (umms
s [ —
frm X firmY frm 2
1 10¢ - -
£ 150 50 -
< 200 g 70
Lz 250  15( 100
Which 15 a poin! on the short-run supply schedule of the industry”
prnce | units
(%
A 7 300
B 2 350
C 450
D 4 150
June 2003/Q11
4. The diagrams show a change in demand from D+ ta s sl @ change in supply from S, to Ss for
four diffterent goods. Which diagram illustrates the good 130 which new uses nave been found and
which receives an increase In government subsidy”
A B
S —
4 / S
|
| /
price price |
™ | M
Lot '; D__ -
O O
Quanuly quantity
C D
S,
4 s
price pnce %
p'0
o) " O -
Guanlity Quanhity
Nov 2003/Q11
e
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47.

49,

The operations are provided free.
Which statement is true?

ocCowm>»

Y Demand, Supply & g
qm

Assume that nce is a substitute for potatoes. .
I there is a decrease in the supply of potatoes, what is likely to happen to the market for rice in

short un?
A Demand will decrease and the price will_decrease.
B Demand will increase and the price will Incréase.
C Supply will decrease and the price will increase.
D Supply will increase and the price will decrease.
Nov 2004/
The diagram shows the market for new houses.
Q
! >:
‘ ’ s,
7
/ /
w/ /
#
prnce X
D,
Q guanuty
What would cause the change in the market equilibrium position from * to Y?
A a fall in income tax and a rise in building costs
B 2 fall in interest rates and an increased efficiency in house-biitding
(o a fall in population and a rise in taxes on building materials
D a rise in building subsidies and a fall in incomes
June 2005/Q11

The diagram shows the demand curve, DD;, and the supply curve, 85;, for eye operations
4 S
D

price

number of operations

The equilibrium price is zero.
;Ee equilibrium price is P,
€ equilibrium price is indetermin
ate, because i ical.
Consumer surplus from the operations is ODD eNTpghp e S :
1 Nov 2‘00 i
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51.

52.

42

Demand, Supply & Equilibrium

In the diagram, S; and Dy are the initial supply and demand curves for tea and X is the original

equilibrium. There is then a failure in
Which point would represent the equ

price

_t?'ue‘coffee harvest of a major coffee producer.
ilibrium position in the tea market as a result of this failure?

guantity

Goods X and Y are complements.

Nov 2006/Q11

What will be the effect on the equilibrium price and quantity of good X of an increase in the supply

of good Y?

equilibrium
price of X

decrease

decrease

A
B
C increase
D

increase

darrazce

increase
decrease

increase

June 2007/Q11, Nov 2000

The number of passenger journeys per week by train on a certain route is shown by the demand

curve in the diagram.

e W

demand

A
\V
=
fare W 5 i
0 R S

number of journeys/week

Initially the fare is OP, but it is then reduced by PW.

Which area measures the amount spent on the extra journeys resulting from the lower fare?

A VUT B PWTV

C VRST D URST
Nov 2007/Q11
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53. The diagram shows demand and supply curves for petrol. The present equilibrium is at X,
What could be the new equilibrium if there were a large fall in the price of cars?

price

O quantity
June 2001, Nov 2008/Q11
54, What is generally considered to be one of the advantages of using the price mechanism as a
rationing device?
A It ensures that goods are allocated in accordance with the necds of consumers.
B It ensures that suppliers cannot make excessive profits.
C No one can be prevented from consuming a good if they arz willing and able to pay the
market price.
D The allocation of goods is determined by consumers’ wealth.
Nov 2009/12/Q10
55. The demand curve in the diagram shows the relationship between the number of car journeys and
the cost of a car journey.
4
cost of a
car journey
D
o) ‘ -
number of car journeys
What would cause the demand curve to shift to the left?
A a reduction in car tax
B a reduction in petrol prices
g a reduction in public transport prices
the introduction of tolls on motorways 1"
Nov 2009/P12/Q
_
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Demand, Supply & Equilibrium

D WX

June 2003/Q12

Nov 2006/Q12

56. A specific tax is placed on the sale of bottles of lemonade. In the diagram, SS is the supply curve
before imposition of the tax and S,S; is the supply curve after tax.
A
S1
D
W S
price L {
ST/ \D
T
S
o =
Which distance represents the specific tax on each bottle?
A uTt B WT C Wi
57. The diagram shows a market subject to a maximum oiice.
1' p -
P
b
price
. . maximum price
| ' \
/ | Lo D
0 Q, Q Q -
quantity
What will happen if the maximum price is removed?
A There will be allocation by a queuing system.
B There will be allocation by government rationing.
c There will be allocation by seller's preference.
D There will be allocation by the price system.
58. The diagram represents a market for a good, in which the equilibrium price is OU.
4
w
supply
oV \X Z/ maximum
price v price
U .......... ]
i demand
o .

quantity
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60.

61.

A maximum price of OV is imposed by law.

What effect does this have on consumer surplus?

A It decreases by area VXYU.
B It increases by area WXV.
Cc It increases by area XYZ.

D It is not affected.

Nov 2003/Q13, June 2007/g;

The diagram shows the demand curve and supply purve for a good on which the government
imposes a specific tax. What will be the result of this tax?

A S

price

S

guantity

Most of the incidence of the tax will fall on the producer.
The new demand curve will be parallel to DD.

The price will rise by the fuil amount of the tax.

The quantity bought will fall proportionately to the tax rate.

oOw>»

June 2008/Q12

Between 2006 and 2007, the price of skimmed milk powder on the world market rose from $1000
per tonne to $2400 per tonne.

Assuming that the market is a free market, what will result from the price change?

A Consumers will buy more complements to skimmed milk powder.

B Farmers will increase the size of their dairy herds to supply more milk.

c Firms processing milk into skimmed milk will switch to producing substitutes.
D Governments will introduce a system of rationing.

June 2009/012
Between 2006 and 2007, the price of skimmed milk powder on the world market rose from $1000
per tonne to $2400 per tonne.

Assuming that the market is a free market, what will result from the price change?

Consumer; will buy more complements to skimmed milk powder.,

F_:-:rmers will in_crease the size of their dairy herds to supply more milk.

Firms processing milk into skimmed milk will switch to producing substitutes.

Governments will introduce a system of rationing. 2
June 2009[01 i

o0Om>
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62.

63.

64.

65.

46 Demand, Supply & Equilibrium

For price to act as a rationing mechanism, the effect of a rising price must be to

A attract new firms into the market.

= generate additional profits for producers.

e reduce the quantity demanded by some individuals.
D signal the need for a reallocation of resources.

June 2003/Q13

The managers decide to rely on the price mechanism to allocate parking spaces at the hospital
most effectively.

A S

k §

number of spaces
What is required in order for this to work?

A Alternative means of transport must be provided for those unable to afford price OP.
B A survey will be needed to find out the amount Lzers are willing to pay.
C The capacity of the car park will need to be copanded
D The price charged for parking spaces musl g OF

June 2006/Q13
What is not correct when price acts as a means 1o ailocaie resogices”?
A Price determines the supply of public goods.
B Price operates in the markets for both goods and factors of production.
Cc Price recognises consumers’ ability to pay rather than consumers’ needs.
D Price signals to producers which goods are most profitable.

Nov 2006/Q13

In a free market in disequilibrium, which combination of price and quantity will lead to a fall in price
and a contraction in output to reach equilibrium?

4

quantity

A P1Qj B P1Qs C P3Qq D P1Qs
Nov 2007/Q13, Nov 2011/P12/Q7

Scanned by CamScanner



47 Demand, Supply & &'tm,t,q,,,,,“n

©6. Which government policy might limit the rationing function of the price mechanism?
¥ A the imposition of tariffs on imported consumer goods
i B the levy of indirect taxes at varying rates on different goods
B Cc the payment of subsidies to food producers
. D the setting of maximum prices for rented housing
June 2003;Q13
67. The diagram shows the average world price of coffee in US cents per pound weight (Ib) between
1997 and 2005.
The price of coffee, 1997 to 2005
150 T 1 i
S
125 N

| |

100 \ ." . Z
| | ! |
UScents/lb 75 : \\I l//

I
|

50 | S
: ‘ | , ,
| ! |
0 T I T S S RER R
' 1997 2001 2005
! year

Which event is consistent with the price behaviour shown in the specified time period?

A a continuous rise in the price of tea between 1997 and 2001

B the entry to the market of new producers of coffee between 1997 and 2001
c a series of good coffee harvests between 2001 and 2005

D increasing health worries about drinking coffee between 2001 and 2005

Nov 2008/Q13
What is correct about market supply?

Market supply can increase only when all individual firms increase their output.
Market supply is effective when consumers have sufficient income to buy the good.
Market supply is the result of aggregating the supply of all individual firms.
Market supply of an inferior good falls as price increases.

oOm>»

Nov 2007/Q7
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69. In the diagram S4S4 and S;S; are the supply curves for an agricultural product in years 1 and 2
respectively. DD is the demand curve in years 1 and 2.
g;ear 1 the government purchases an amount necessary to ensure that the price is at the level
'
52
price 2 i

|

|

I

]

1

I

1 -

o v "
quantity
If the price is to be held at OP in year 2, how much must the government buy?
A oY B XW c WY D XY
Nov 2003/Q17
70. Brazil and Colombia attempt to control the supply of coffee in the world market to help stabilize

their incomes.What condition is essential for this to stanilize their incomes effectively?
A There must be large firms in the industry.
B It must be possible to store the coffee and reicase =iocks whaen necessary.
C Other countries must supply a significant percanlage of fhe lotal market.
D The demand for the product must be elastic.

June 2004/Q17
1. The diagram shows the market for spectacies. Iniiially the market equilibrium price is P, and

quantity Qs is bought and sold.

4

e L

.
price Po i
Pu—" \
! .
0 Q. O 5 Q. Qs -

guantity

The government then sets both a maximum spectacle price of Px and a minimum price of Py,.
What effect will these measures have on the market for spectacles?

A create a shortage of spectacles equal to Q1Qs
B create a surplus of spectacles equal to Q2Qa
c create a surplus of spectacles equal 10 QaQ4
D

leave the guantity bought and sold unchanged
Nov 2004/Q17
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72.

73.

E

49 Demand, Supply & E‘l’“’ffbn.
The diagram shows the market for wheat.
S
Py
price
: : i D e
O X e z
quanlity

What quantity of wheat must the government buy if it wishes to raise the market price from P4 to

P.?

A 0Z B XY Cc XZ D YZ

June 2005/Q17, Nov 2009/P12/Q16

The diagram shows the original market clearing price is P4. The government then imposes a
maximum price of P, on the industry.

quantity

What will result from this?

a higher price and output

a shortage

a surplus

an unchanged price and output

ooOom>

Nov 2005/Q17
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74. The diagram illustrates a market for Wheat. The government sets a maximum price of OP.
4 g
(=]
price
D
e
o

quantily
What could cause the maximum price to have an impact on the market?

an increased wheat harvest

a fall in the price of rice

an advertising campaign for bread

an increase in subsidies to wheat farmers

oOmr

June 2006/Q17, Nov 1998

75. The diagram shows the market demand and supply curves for an agricultural product. The
government allows the price paid by consumers {0 be detenminad oy the market, but guarantees
producers a price of QP5.
P, \ 2
C N STUDENTS Bttt
P. | =1 T A i
price . RECOURSE - Lt
I
LW demand
|
@] quantity
Which area in the diagram represents the total subsidy payments made by the government to
producers?
A W+Yy+2z
B y+z
c X
D X+y+2z
Nov 2006/Q17
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76.

Demand, Sup fy
51 P &Eq"m‘"n

The diagram shows the market for apples. A government maintains a minimum price P, by buying
apples.

guantity
Which area shows the amount of money the government has to spend to maintain the price P,?

A P2WYP4 B P2VQ10 C P.WQ:0 D VWQ:Q

Nov 2008/Q17

The government places a maximum price P1 on an agricultural product. The supply and demand
conditions for this product are shown.

S

P‘i et

quantity
What will be the outcome in the market for this product?

There will be an equilibrium price and output.
There will be a surplus of the product.

There will be higher than expected profits.
There will be shortages of this product.

oow>»

Nov 2009/P12/@17

)
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78.

79,

52 Demand, Supply & Equilibrium

In the diagram, S1S, and DD represent the origi '
ginal supply and demand curves for an agricultural
product. Bad weather then reduces supply to S,S;. oY :

The government does not allow the price to rise above OP .

4 b s
5
price
=
1
D
5'.‘
S1
o Q, Q U,
quantily

Hm{gmuch of the product will the government have to supply from a buffer stock if demand is to be
met?

A DQ1 B Q1Q3 C Q'.Q," D Q?O:!

June 1996, June 2003/Q18, Nov 2010/P12/Q18

A government introduces a maximum price for house rentals (maxPh) and a minimum price for
cleaning services (minPc).

Which diagram shows that the maximum price wiil he #ffactive snd the minimum price will be
ineffective in the respective markets?

S . g
maxPh \ Z minPe -—-}-‘—\——--/
™, ey
price pnce ¢
minPc maxPh
/ \D // D
> O ;
O quantity quantity
A C 1; D
S S
maxPh \\ Z
minPc /
prica pnce
maxPh b
minPc¢ / \
/ “p
g D

0 quantity :
quantity

June 2005/Q18
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80. A government intends to introduce a minimum price for rice, a maximum price for heating oil ang 5
tax on chewing gum.
Who, in each market, is meant to benefit from these policies?

l l market for rice market for heating oil | market for chewing gum ]!
i A \ consumers government producers J
|‘ B government producers government
c \ producers producers consumers )
D || producers consumers | government |
Nov 2006/Q18
81. The diagram shows the imposition of a maximum price (OM) on a product.

An organisation buys up the total supply at the maximum price and then resells it iliegally to gain
maximum revenue.

supply
s T
T
price
M v \
aemand
o] X Y
quantity
What is the organisation’s revenue? .
A OomMvy B ORUX c ORWY D 0STX
June 2008/Q18
82, The market price of an agricultural commodity was so low that the government fixed a minimum

price for it above the market equilibrium price. However, the

government did not buy any of the
commodity itself What would happen as a result? A 4

A There would be an equilibrium in the market but the change in farmers’ incomes would be
uncertain.

B There would be a shortage on the market and farmers' incomes would rise

g There would be a surplus on the market and farmers’ incomes would fall. .

There would be a surplus on the market but the change in farmers’ incomes
would be uncertain.

June 2009/P1/Q18
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83.

Demand, Supply & Equilibrium

The diagram ?ZWS the demand and supply curves for an agricultural commodity.
f\ government decides to set a minimum price in the market of £3 per kilo to be maintained by
intervention purchases.

What would be the government's financial outlay on such intervention?

price y

S
(£ per kile
4 -
LA
2 =
4 -
9]
quantity(kilos million]
A £6 million
B £10 million
c £12 million
D £18 million

June 1988, June 1991

84. In the diagram the initial equilibrium in a market for a good is given by the point X.
A government imposes a specific tax of 5 per unit, and a new equilibrium is established at point F.
Which area measure the tax revenue obtained by the government?
A
price
$
F
=8
K
A PiP2 FX
B P4PFG
C PiKJG
D P2FJK
Nov 1991
&—_—.
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85. A government decides to prevent the price of butter from rising above OP1 per to_ne. by‘ drawjng
from its stockpile and to prevent the price from failing below OP per tone by adding to its stockpi
as shown in the diagram. '
If the original supply curve was US:, what will be the new market supply curve?
price I 2
per S1
tonne /
Q R
P1 T
P2 /V
1] >
o} tonnes of butter
A UP2S: B UP,0T C P2QRS D P,VRT
June 1986, Nov 1991
86. Point X on the diagram shows the initial equilibrium point in which the government has imposed a

specific tax 10 cents per unit.
The tax is then double to 20 cents per unit, sh

Government tax receipts change from.

ifting the equilibrium poirt from X to X

3 S2
price 51
105
100
% H D
o 7 ' >
90 100 quantity

Government tax receipts change from

A zero to $4.50.
B zero to $5.

c $5 to $10.

D $10 to $18.

Nov 1993
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87. The table shows the demand and supply schedule for a good before and after the imposition of a
tax.
Price $ Quantity Quantity supplied | Quantity supplied
Demanded Before tax After tax
20 80 600 320
19 120 440 240
18 170 400 170
17 200 320 130
16 240 240 a0
15 400 170 50
14 600 ] 130 20
What was the amount of tax imposed?
A $1 B 82 c 33 D $4
Nov 1991
88. The diagram illustrates the effects of placing a specific tax to JM on good.
Which area represents total tax receipts?
price 4
b4
Y
z
0 quantity;
A XJKY B XJLY c XIMZ D JKM
Nov 1994
89,

In the diagram S is the original supply curve for books in Europea. On joining at trading
community, Europea is compelled to impose an ad valorem tax on books.

Which curve represents the new market supply curve for books?

| /Aﬂs
%z

I
—i-

o
price

0 quantity
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itural commodity.

90. The di for an agricu
e diagram shows the demand and supply curves g and pays producers the differenc,

The government sets a minimum guaranteed price equal to OP1
between the guaranteed price the market clearing price.

What will be the quantity supplied and the market clearing price?

price ; 5

P1

iy I \

D
0 M1 M2 quantity
Quantity Price o
A OM; OP4 o :l
B OM4 f oP, |
c OM:z OP4 -
D ‘OM2 OF: N
June 2000
91. The table demand and supply schedules forced peppers. The equilibriurn price is initially 15 cents
per kg.
Price per | Amount demanded | Amount supplied
kg cents kg (thousands) kg (thousands)
30 11 22
25 12 19
20 13 17
15 15 15
10 17 _ 12
5 20 11
The government pays a subsidy of 10 cents per kg to producers.
What will be the new equilibrium price charged to consumers?
A 20 cents B 15 cents c 10 cents D 5 Ce"tsoo
Dec 1984, Nov 20
-‘
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92. A specific tax is placed upon each bottie of

erfume sol i '
before tax, S¢St the SUpply curve after tax. p sold, In the diagram, S§ is the supply curve

price #

R
Q I
P :
L)
]
: s
g Y z -
quantity
Which area represents the revenue received by the government form the tax?
A ORWY
B PQUT
C PRWT
D QRWU
Nov 2009/P12/Q8
93. The table shows the demand and supply schedules for a good before and after the imposition of a
tax.

What was the amount of the tax?

price qu}amhy -QIl'r;lH|ﬂ_};‘-_‘.w'-lJ(:r_[J|_lf_3'E-ﬁ_ i E}Ei-l_nlhly supphed
($) demanded bofore tax after tax
20 340 440 380
19 340 430 340
18 340 410 290 4
17 340 380 230
16 340 340 160
15 340 290 80
14 340 [ 230 0
A $1
B $2
c $3
D $4
Nov 2003/Q9
e —
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94. The diagram shows the market supply and demand curves for corn.
Vo s
- UG W S
| : :
L s . G St
price [ ! !
| 1
T
o k 1L R El
output
What should a government do if it is to maintain a minimum price OP>?
A buy quantity KR
B boy quantity LR
c sell quantity KL
D sell quantity OL
June 2004/P3/Q15
98. The diagram shows the demand and supply curves of a cemmicdity before and after a

specific tax is removed.

gquantity
What is the tax per unit of output and what is the price after the removal of the tax?

tax per unit ,eﬂf:;;agf trhtg ?ax
A 6 g
B 6 ¢
c 4 €
Lo $ -

Nov 1997, Nov 20051013‘;-
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96. The diagram shows the demand and supply curves for an agricultural commodity.

The government sets a minimum guaranteed price equal OP; and pays producers the difference
between the guaranteed price and the market clearing price.

Which area measures the cost of this scheme to the government?

AN P

© quantity
A utvtw B Utv+wx+y c VAW Y D VHEWHXTY+Z
June 2002/Q13
a7. The table shows the market supply for a raw material and the individual dermand of the three firms.
X. Y and Z, which are its only buyers.
T SRR EERE S
price | market | demand | demand | demang |
$ | supply | by X by Y by Z |
(per kilo) = {000s) | {000s) (000s) (00Us)
I —— ]
v 30 | 13 : 27 20
B ‘ 40 | 12 l 25 18
g 50 | 11 | 23 16
10 60 10 | 20 15

What is the equilibrium market price of the raw material?

A $7 B $8 c $9 D $10

June 2010/P12/Q4

98, In 2008 the demand curve for new cars in the European Union shifted to the left.
Which change could have caused such a shift?

an increase in real disposable income
an increase in the cost of borrowing
an increase in the price of new cars
an increase in the price of train travel

oomo»>

June 2010/P12/Q5
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99, Worldwide, the film industry has increased its expenditure to over $1 billion each year on
successful anti-piracy measures which it finances by charges on DVD products.
How would this be shown in a demand and supply diagram of the market for legally produceq

DVDs?
|1. demand curve | supply curve

A \ shifts left shifts left

B l shifts left shifts right

c | shifts right shifts left

D | shifts right shifts right |

June 2010/P12/Q¢
100. In 2008 a disease killed a significant number of sheep used to produce wool.

How would the short-run effect be shown on a demand and supply diagram for wool?
A a movement down the existing supply curve
B a movement up the existing supply curve
o a shift to the left of the supply curve
D a shift to the right of the supply curve

June 2010/P12/Q9
101 The government imposes a maximum price of P, on a product.

guantity
What will be the position after this action?

A
B
Cc
D

an equilibrium with price P, and quantity Q4

an equilibrium with price P, and a quantity between Q, and Qs
an oversupply in the market by Q,Q4
a shortage in the market of Q,Q;

June 2010/P12/Q10

E
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102.  The diagram shows the demand and supply curves of a good.

1|.

S

2 guantity

The government sets a maximum price of OJ for the good.
How will this affect the consumers and producers of the good?

|
’, | effect on consumers l efiect on producers
i I - =

'| A All consumers will gain. ; Croducers will lose.
i B All consumers will gain. | Eioducers will gain,
| C | Some consumers will gain and some will losc. | Froducers will gain. |
‘ D | Some consumers will gain and 5c:_rl‘l_e_~:~.-'_|_1_I___!_cfs)_-\-;_._i__ Producers will lose _
June 2010/P12/Q17
103. What might shift an individual's demand curve for petrol to the lefi”?
A a fall in the price of parking
B a fall in the price of petrol
c a rise in the price of cars
D a rise in the price of public transport
Nov 2010/P12/Q5
104, The table shows the market demand for a product and the individual supply of the three firms X, Y
and Z in the industry.
, N
marke! supply supply supply
pr",:["' demand by X by Y by Z
| 8 (000) (000) | (000) (000)
40 60 50 ‘ 10 20
30 70 41 11 18
20 80 34 10 16
10 a0 30 9 11
What is the equilibrium market price?
A $40 B $30 c $20 D 510
Nov 2010/P12/Q9
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d that its profits had been reduced by price i Mt
come.
for its products?

|

[ demand supply |

105. Domino Pizza, the largest US pizza chain, sai '
on ingredients and by a reduction in consumers’ disposable In
How would these changes affect the demand and supply curve

move to the left move to the left

move to the left move to the right

|
| move to the ngnt move to the left

move to the right

o 0O W >

move to the right ?

Nov 2010/P12/qs

s the amount of consumer surplus that would occur in a

106. Which area in the diagram represent
ffective maximum price?

market if a government enforced an €

supply
{
price S h
/r\
\ Maxmum onse
gemand
o guantity
A f only
B f+g+honly
c f+g+ionly
D f+g+h+i+j+k

Nov 2010/P12/01!

107. The su;?ply of an imported good is shown by curve S.
What will be the new supply curve if an ad valorem (percentage) tariff is imposed on the 9°°d?

A
B
]
c

price

8 guantity B
Nov 2010/P1
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108. Rising demand for oil

oif from China and other countries is leading to concerns that there may be a
world shortage of oil.

How should a change in the price of oil prevent such a shortage developing?

A Pn:ce should fall 1o reduce demand and encourage a search for more oil,
B Price should fall to reduce supply and encourage a reduction in fuel use.
g Price should rise to reduce demand and encourage a search for alternative fuels,

Price should rise to reduce supply and encourage a switch 1o alternative fuels.

Nov 2010/P12/Q12

109. What is consistent with an individual demand curve that slopes down from left to right?
A As prfce falls, a person switches away from rival products towards the product,
B As price fa!is. a person s willingness and ability to buy the product will decline.
{D‘.: As price rises, a person becomes less sensitive to price changes.

As price rises, a person's opportunity cost of purchasing the product falls.

June 2011/P12/Q4

110. The diagrams show changes in the market for a good.
1 2 3
4 4 g 4 S
° o s,
\ "\
N \
price price \\ 4 price
» \\
0 °: o] 0
O guantity O quantity - guantity

Which diagrams represent ‘a change in the guantity demanded'?

1and2
1and 3
1 only
3 only

oO0Omw>r

June 2011/P12/Q86
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112.

113.

j

65 Demand, Supply & Equilipy;

In the diagram D and S are the demand and supply curves of a good.

i S

price

0] quantity

What could cause the supply curve to shift in the short run to S4?

A a change in consumer preferences
B a decrease in the price of a compiementary good
c a fall in the cost of raw materiais
D a government warning that consumption of the good can damage health
June 2011/P12/Q8
The diagram shows the demand and supply curves for a good.
I )
P1
P
price
o)
quantity
The government fixed a maximum price of OP;,.
What would this have achieved?
A the guarantee of supplies of 0Q,
B the market equilibrium of quantity OQ
Cc the need for a government subsidy of PP
D the rationing of the product for consumers to OQ;,
June 2011/P12/Q11

Global stocks of cod are currently u
of the less popular Alaskan pollock,

nder threat due to over-fishing whilst there are plentiful supplies

How might the price mechanism Operate to limit the depletion of fish stocks?

oOm>

The price of both cod and Alaskan pollock will fall.
The price of both cod and Alaskan poliock will rise.

The price of cod will fall whilst the price of Alaskan poliock will rise.
The price of cod will rise whilst the price of Alaskan pollock will fall.

June 2011/P12/Q12

-
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114,

115.

66 Demand, Supply & Equilibrium

In the diagram S and S, are the supply curves for

. ; an agricultural product in years 1 and 2
respectively. D is the demand curve in years 1 an ¢ ? Y

d2.

In year 1 the government purchased an amount necessary to ensure that the price was OP.

L S si
(year 1) (year 2)

price

0 WX Y z "
guantity

The price is held at OP in year 2.

How much more must the government buy in year 2 than it bought in year 1?

A WX
B XY
c xXZ
D YZ

June 2011/P12/1Q17

During a period of falling incomes in Germany in 2004, demand for jeweliery declined. There was,
however, a rise in demand for frozen foods.
How would the effect on the demand for the two products be illustrated?

jewellery

frozen food i

a movement downwards
along the demand curve

a movement upwards
along the demand curve

a shift to the left of
the demand curve

a shift to the right of
the demand curve

a movement upwards |
along the demand curve i

a shift to the right of
the demand curve

a shift to the right of
the demand curve

a movement upwards
along the demand curve

Nov 2011/P12/Q5
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118, Ina free market in disequilibrium, which combination of price and quantity will lead to 3 fallin prigg
and a contraction in output to reach equilibrium?

quantity

A P4Q+ B P:Qa c Paldy D P3Q;
Nov 2011/P12/Q7
117. The table shows demand and supply schedules for red pepzers The equilibrium price is initially 15
cents per kg.

price per kg | amount demanded | ;moum supplied !
cents | kg (thousands) kg (thousands)
30 11 22 |
25 12 ' 19 i'
20 13 17
15 15 15 !
10 17 13 |
L S 20 11 |

The government Pays a subsidy of 10 cents per kg to producers.

A 5 cents

10 cents
c 15 cents
D 20 cents

Nov 2011/P12/Q9

|
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118.

118.

120.

68 Demand, Supply & Equillbrium

The diagram shows the market for new houses.

1

price
L Bs N
0 _
quantity
What would cause the change in the market equilibrium position from X to Y?
A a fall in income tax and a rise in building costs
B a fall in interest rates and increased efficiency in house-building
c a fall in population and a rise in taxes on building materials
D a rise in building subsidies and a fall in incomes
Nov 2011/P12/Q10
When demand for a good falls, its price falls
What is the function of the price fall?
A to eliminate shortages
B to reduce consumer surplus
c to send a signal to producers
D to stimulate a further fall in demand
Nov 2011/P12/Q12
The diagram shows the market demand and supply curves for rice.
4
‘ S
10
price 8
(S)
. D
O Q1 Q: Q.’:

quantity
What would happen if a government imposed a maximum price of $107

The government would need to supply Q+ to Q.
The quantity sold would be Q.
The quantity sold would be Q.
The quantity sold would increase from Q2 to Qs.

oOowr

Nov 2011/P12/Q18
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121. The diagram shows a demand curve for a good.
4
price
D
0 quantity
Which statement describes the nature of this demand curve?
A A fall in price is the result of a fall in demand.
B A greater or smaller quantity is demanded as price chanri=:,
c As demand increases so does price.
D uantity changes in proportion to the change in price.
Nov 2011/P11/Q5
122. How would an economist establish the market demand curve for a private good?
A by adding consumer surplus to total expenditure
B by combining individual demand curves horizontally
c by combining the price elasticity of individual demands
D by multiplying price by quantity demanded
Nov 2011/P11/Q6
123.  What could cause a shift in the supply curve of good X and a movement along its supply curve?
shift in the curve movement along the curve
A a change in consumer preferences an increase in the price of a substitute good
a decrease in factor productivity the imposition of a tax on good X
c an increase in the price of a an increase in factor productivity
complementary good
D an increlase in the wage rates a change in consumer preferences
in the industry -
11/Q7
Nov 2011/P

o
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124.

Demand, Supply & Equilibrium

An industry is comprised of three firms, R, S and T which produce product X.

L

price of X

output of X

3

firm

firmR ‘

S firm T

80 |
73 |
52 |

59
48
0

36 \
29 |

'I 22 |

|
|
|
|

85 |
76 :
68 |

BF;‘_’?W much is a rise in the price of product X from $22 to $36 likely to increase the market supply
of X7

A 27

B 77

125.  The diagram shows the effect on the market for rice of

a shift in the supply curve from S to S-.

price

104 D 224

Nov 2011/P11/Q¢%

a change in government policy that causes

@]

What does the area JKLM represent?

guantity

the additional saving to importers of the removal of a tariff on rice

the cost to the government of a2 subsidy to rice growers

the increase in consumer surplus from the introduction of a maximum price for rice
the loss in government revenue from the reduction in a lump sum tax on rice

oOomwr

126.

What must a government do to stabilise the price of an agricultural commodity?

Nov 2011/P11/Q12

\ when demand exceeds supply

-

—

when supply exceeds demand

A I add the excess demand to a buffer stock

B meel excess demand by running
I down a buffer stock

subsidise production

tax consumers of the commodity

release an amount egual to the
excess supply from a buffer stock

purchase the excess supply and
add it to a buffer stock

IMpose a tax on consumers

subsidise production

Nov 2011/P11/Q18
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| O | Ans. | Q | Ans. | Q [Ans. | Q | Ans. | Q | Ans. | Q | Ans. Q_[Ans|
| C |20] D |39 ¢ [ 58 [ D [77] A 19 | B [115] c
21 A {21 D 4| Cc [ 59 A | 78] B |97 C 11@
| 3 A [2] A [41] D | 60 B |79 C |98 [ B |117] B
| 4 A |235] D [4] C 61 B (8 [ D [ 99| C [118] a7
| 3 B (24| A 3] B | 62 C [8 [ D [100o] ¢ T119] ¢
| 6 | B [25] C [#M] C 3 | D 82 D [10r ] A [120] ¢
7 | B |2[ A [45] B |64 | A [8] A [102] D (121 B
8 D [29] © 4] € | 65 B |8 | D 103 C J122] B
9 A [28] D 7] B [ 66 | D |8 | D [ 104 B [123] D
10 B [291 A (48] A [ 67 ] B [8 [ D [105] A [124] C |
11 | C 3] Cc [49] B [ 68 ] C [ 8  C 106 C [125] B |
121 A J31] ¢ [5] C |69 | D [ 8] ¢ | 107] A [126] B |
13 D [32| D |51 D 70 B 89 | B |18 | C | ;
14 | D [33] D |[52] D [ 7 D 90 | & o[ A | | |
15 | D (3] B |55 B | 2] C |9 | ¢ 170l | |
6 | D |35] A [sa]l c T3 D [9] c i c ]
17 ] A [3] B |55 Cc [ 74 Cc [9] C [12] B |
18 | D |37] C |5 | B [ 73] D [% | A |[113] D
9 [ B [38] D [57] D [ 76 | D [9% | A |14] D] 1 |

— a
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Unit 3 72 Elasticity
1. If the price elasticity of demand for a commodity is unity, an increase in its price will
A i_ncrease marginal revenue.
B InCrease total expenditure on the commodity.
G leave the quantity purchased unchanged.
D decrease the quantity purchased.
Nov 1990
2. A specific tax of 30c per unit on a commodity produced in a perfectly competitive industry causes,
the price paid by consumers to rise by 30c.
If it is known that the demand curve is downward sloping, then this industry is characterized by
A decreasing costs.
B increasing costs.
C a perfectly inelastic supply curve.
D a perfectly elastic supply curve.
Nov 1990
3 The diagram shows the demand for an agricultural crop together with the crop vields in five
successive years.
In year |, the government introduced a buffer stock scheme 1o maintain constant price of $50 per
tone. What was the maximum size of its buffer stock?
price per 1
tonne 570 | S¢ S5 S1 S &
60 '
GO e o s e
40 -
30
20 -
10
T T 3 ’
O 4 2 3 4 5 & 1 8
tonnes per year (millions)
A 1 million tones B 2miliontones C 3 miliontones D 5 million tonnes
Nov 1990
4,

If the cross-elasticity of demand for coffee resulting from changes in the price of tea is %, what will
be the percentage change in demand for coffee if the price of tea rises from 20c¢ to 22c per kilo?

A 6.6% B 7.5% C 10.0% D 12.5%
Nov-1990
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5. In the diagram, D+D; and D;D; are two demanded curves

r

price

0 gquantity )

Which of the following statements is correct?

A D2D: is more elastic that D+D+ at point M.

B D,D; is more elastic than D1D- at point N,

c The elasticity of demand is the same on both curves at point N.

D The elasticity of demand increases on moving dewn both curves.

June 1991

6. An excise duty imposed on a single commodity falls entirely upon the consumer if the

A supply curve is perfectly elastic.

B demand curve is perfectly elastic.

Cc demand curve is of unitary elasticity.

D supply curve is of unitary elasticity.

Nov 1987, Nov 1982,Nov 1996,June 1981
7 The supply function for a good can be written as Q=2p+10, where Q is the quantity supplied in kilos
and P is the price per kilo in pounds.

The price rises from £10 to £15 per kilo. The value of price elasticity of supply for this price
increase lies in a range from

i 1 1 3 1 2 3 7
' A gtoz B gto; C ;tc}z D 3101
June 199!
8. A government purchasing agency buys the first 1 million of wheal farmers at a guaranteed price per
tongs and guantities above this at 50% of the guaranteed price.
Which diagram represents the total revenue of farmers in this situation?
A B c D
; F'y ]
£ g 5 3
$ € & s
EL B 3 s
[} i - = =
2 L3 ;: g
1 wheat ; wheet ™ wheal 7 wneat )
(m tonnes) (m tonnes) (m tonnes) . (m tonnes;

Juné 1991‘
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Elasticity
0 What is the formula for the cross-elasticity of demand of good Y with respect to good X?
% change in price of good X
A % change in price of good Y
5 % change in price of good X
% change in quantity demanded of good Y
c % change in quantity demanded for good X
% change in quantity demanded of good Y
D % change in quantity demanded of good Y
% change in price of good X
Nov-1991
10. An increase in the supply of wool would not lead to a change in the price of wool if the demand for
A lamb were perfectly price elastic.
B lamb were perfectly price inelastic.
c wool were perfectly price elastic.
D wool were perfectly price inelastic
June 1992
11. Which curve on the diagram represents the constant unitary elasticity of demand?
price
o]
June 1992
12, The price elasticity of demand for a product unity for all price changes
What would be the effect of an increase in price?
A an equal proportionate decrease in the amount demanded
B an equal proportionate decrease in the price of substitute products
C a decrease in the percentage of total income spent on the product
D no change in the amount of the product demanded
Nov 1992
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13. The diagram shows a supply curve. |
Which statement describes the price elasticity of supply along this curve?

-~

/

Price
S

0 Quantity
It is constant and greater than unity at all quantities.
It is constant and less than unity at all quantities.

It is equal to unity at all quantities.

It is diminishes as quantity increases.

ooOom>

June 1985, June 1993
14. The price elasticity of demand for a commodity is 0.5. The: price ¢f the commodity is initially $5 and

the initial quantity sold is 100.
By how much would the price have to be reduced to increase sales by 20 units?

A $0.50 B $1.00 C S D $2.50
Nov 1993
15, The supply of a particular product will be more inelastic
A the longer it takes to produce the good.
B the longer the good can be stored.
c the greater the number of firms in the industry.
D the greater the amount of spare capacity in the industry.
Nov 1983
16. Which of the following groups would be expected to have the highest price elasticity of demand for
rail travel?
A air travellers using a rail link from a city centre to an international airport
B business executives
C commuters working in central business districts of major cities
D students returning home for the weekend
June 1994
17. The table shows the income and cross-elasticities of demand for two commodities, X and Y.
[ income elasticity cross-elasticity in relation to
each other
Commodity X +0.5 +0.5
Commodity y 0 +0.5

Incomaln‘ses by 10% and the price of Y falls by 10%.
If the price of X remains unchanged, what will happen to the quantity of X demanded?

A It will fall by 10%, B It will remain the same.

c It will rise by 10%. D It will rise by 20%.
June 1994

e ——
Scanned by CamScanner



unit 3

18.

19.

20.

21

The diagram shows a supply curve for four products.

Which product has unitary elasticity of supply?

- 1 B c
price

L

quantity supplied

Elasticity

Nov 1994

The price elasticity of demand for 2 good is unity. What will increase as a result of a reduction in

the price of the good?

expenditure on the good
expenditure on substitutes
marginal revenue

quantity demanded

o0 m>

June 1995

In which circumstances will an indirect tax fail entirely upon the producers of a commodity?

when the demand curve is perfectly inelastic.

oOw>P

when the supply curve is perfectly inelasticity.

when the elasticity of demand is unity at all points on the demand curve.
when the elasticity of supply is unity at all points on the supply curve.

June 1995, Nov 1999, June 2002/Q15

Which diagram shows a supply schedule with an elasticity of supply equal to unity?

1 A y B 4 c Iy 0
g H 5 g $
g & - < 2
s
S
Lo = e
0 Quantity © Quantity  © Quantity  © Quantity

June 1980,Nov 1992, June 1995
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